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AR < PC
IR « M[AR], PC < PC + \
D,, ., D, « 155 IROYAF),

AR « IR (o — \\), [ « IR(Ad)
AR < M[AR]

R =\

T, AR « » , TR « PC
RT,: M[AR] « TR, PC « -
RT,: PC«<PC+),IEN«. R+« . SC*«-.
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AND D, Ty: DR « M[AR]
D Ty: AC« ACADR,SC«»
ADD D,T¢: DR <« M[AR]
D, Ty: AC<«AC+DR,E<«C(C,,,SC+ .
LDA DTy : DR <« M[AR]
D, Ty: AC<« DR,SC <« .
STA D.T¢: M[AR] « AC,SC « »
BUN DyTy: PC<« AR ,SC -
BSA D,Ty: M[AR] « PC, AR <« AR + \
D,T,: PC <« AR, SC <« o
ISZ D, Ty : DR <« M[AR]
D;T,: DR < DR+)
D,T,: M[AR]+ DR SI(DR=¢) u(PC+PC+)),SC+-»
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IR (i)= Bili=-=+1,7.)
r: SC« o
CLA tB,: AC = -
CLE B, B<«. _
CMA tBy: AC <« AC
CME tB;: E<«E
CIR B,: AC « shr AC, AC(V\d) « E , E « AC(-)
CIL tB;: AC <« shl AC, AC(-) <« E , E « AC(V0)
INC tBy: AC « AC +
SPA rBy: (PC < PC + V)= (AC (A8) = ) ,5]
SNA tBe:  (PC « PC + V)i (AC (V0) = 1),51
SZA rBy: (PC < PC + \)u= (AC = ¢),51
SZE tBi: (PC «= PC + V) (E = #),51
HLT B: S«o
TS 3 50959 Slygd 3
DTy = P sl Smie ey 5399 Slietws pled <l
IRi)= Bii =% V,A \o,1))
SC = »
INP pB,,: AC (--Y) « INPR, FGI « -
ouT pB,.: OUTR « AC (--Y), FGO « -
SKI PBy: (PC « PC + V) (FGI =) )51
SKO pB,: (PC < PC + V) (FGO =),5
ION pBy: IEN <\
IOF pBF= IEN <« »
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